Spec/Additional Data Sheet

D and M - Nut and Cutting Ring Specs

Profile Ring

=
4
12
®)&(®) @ (&)
Bar Tuby Part Part Part

Series (psi) 0.D. Number Type Number Number M I Sz Iz
LL 100 4 WALE26000 SA-MALL WALD39838 WALD39862 M8x1,0 11,0 10 6.0
(1450} 6 WALGZE001 SR-MB LL WALO39840 WALD3SEE4 M10x1,0 15 12 10
8 WALBZE002 SA-MELL WALD338H WALD3I38E5 M12x1,0 12,0 14 1.0
500 6 WALEZ6003 PR-MBL WALD39842 WAL3TZ404 M12x15 145 14 98
7252 8 WALEZ6004 PR-MBL WALD39843 WAL3TZ2405 M1dx15 145 17 95
10 WALBZ6005 PR-M 10 L WALO39844 WALITZ2406 M16x15 155 19 10,0
400 12 WALBZ6006 PR-M1Z L WALD39845 WALITZ2407 M1Bx15 155 2?7 95
L (5801} 15 WALBZG007 PR-M 15 L WALO33846 WAL3I72408 MZZx15 17,0 27 9.8
18 WALEZ6008 PR-M 18 L WALD33847 WAL3T2409 M26x 15 18,0 32 98
250 27 WALEZ6009 PR-M 27 L WALD33848 WAL3TZ110 M30x20 20,0 36 105
(3B26) 28 WALBZ6010 PR-M 28 L WALD33849 WAL3TZ411 M36x20 21,0 4 11,0
35 WALBZG011 PR-M 35 L VWALD3SE50 WALI7ZN2 M4bx20 240 50 13,0
42 WALBZ6012 PR-M 47 L WALD33851 WAL3IT2113 MbZ2x2,0 2410 B0 13,0
800 6 WALEZ6013 PR-ME S WALD33852 WAL3T2404 M14x15 16,5 17 98
(11603} 8 WALEZ6014 PR-MB S WALD33853 WAL3TZ2405 MI1Ex15 16,5 19 85
10 WALBZ6015 PR-M 105 WALD33854 WAL3TZ2406 M1Bx15 175 22 10,0
5 630 12 WALBZ6016 PR-M 12 5 WALD33855 WALI72407 MZ20x15 175 24 95
Ny 16 WALEZ6018 PR-M 165 WALD33857 WAL3T2115 M2dx15 20,5 30 103
420 20 WALBZ6019 PR-M 205 WALD33858 WAL3T2116 M30x2,0 240 36 120
(6091} 25 WALBZ6020 PR-M 255 WALD33853 WAL3IT217 M3Ex20 270 46 120
30 WALGZ6021 PH-M 30 5 VWALD338E0 WALI72118 M42x20 29,0 50 130
38 WALGZ6077 PR-M 38 5 WALD33861 WALI72119 MBZx20 325 B0 130




DPR

Progressive Ring
For L and S series only

Cutting (Locking) Ring
For LL series only

|-—

d|3 W\‘

L

|

DPR:
Progressive Ring

STANDARD FROM STOCK d3
TUBE
TUBE FITTING PART # 0D.|] L

STEEL [ STAINLESS| BRASS [ (mm) |(mm)

DO4LLX | DOALL71X |DO4LLMSX| 4 6.0

DO6LLX | DOBLL71X |[DO6LLMSX| 6 7.0

DOSLLX | DOSLL71X |DOSLLMSX| 8 7.0

D10LLX — DioLLMSX| 10 7.0

D12LLX — Di2LLMSX| 12 7.5
DPRO6LX* | DPRO6L71X* | DO6LMSX*| 6 9.5
DPROSLX*| DPROSL71X*| DOSBLMSX*| 8 9.5
DPR10LX*| DPR10L71X*| D1OLMSX*| 10 | 105
DPR12LX*|DPR12L71X*| D12LMSX*| 12 | 10.0
DPR15LX | DPR15L71X | D15LMSX | 15 | 10.0
DPR18LX | DPR18L71X | D18LMSX | 18 | 10.0
DPR22LX | DPR22L71X | D22LMSX | 22 | 105
DPR28LX | DPR28L71X | D28LMSX | 28 | 105
DPR35LX | DPR35L71X | D35LMSX | 35 | 135
DPR42LX | DPR42L71X | D42LMSX | 42 | 135
DPR14SX | DPR14S71X | D14SMSX | 14 | 10.0
DPR16SX | DPR16S71X | D16SMSX | 16 | 105
DPR20SX | DPR20S71X | D20SMSX | 20 | 125
DPR25SX | DPR25S71X | D25SMSX | 25 | 125
DPR30SX | DPR30S71X | D30SMSX | 30 | 13.0
DPR38SX | DPR38S71X | D38SMSX | 38 | 135

M

D:
Cutting Ring




Nut d3 | M
L
—h1—|
STANDARD FROM STOCK d3
TUBE M

TUBE FITTING PART # 0.D.| Metric | s2 | hi
STEEL STAINLESS BRASS | (mm)| Thread |(mm)|(mm)
MO4LLA3CX| MO4LL71X |MO4LLMSX| 4 M8x1 | 10 | 11.0
MOGLLA3CX| MO6LL71X |MO6LLMSX| 6 Miox1 | 12 | 115
MOSLLA3CX| MOSLL71X |MoOSLLMSX| 8 Mi2x1 | 14 | 130
M10LLA3CX — MioLLMSX| 10 | Mid4x1 | 17 | 13.0
M12LLA3CX — Mi2LLMSX| 12 | Mi16x1 | 19 | 13.0
MO6LA3CX | MOGLEODURX| mosLmsx | 6 [Mi12x1.5] 14 | 15.0
MOSLA3CX | MOSLEODURX| mosLmsx | 8 [Mi14x1.5| 17 | 15.0
M10LA3CX | M1OLEODURX| MioLmMsX | 10 |[Mi6x 1.5 19 | 16.0
M12LA3CX |M12LEODURX| Mi2LMSX | 12 |[M18x 1.5| 22 | 16.0
M15LA3CX | M15LEODURX| MmisLMsX | 15 |[M22x 15| 27 | 175
M18LA3CX |M1S8LEODURX| MisLMSX | 18 |[M26x 1.5| 32 | 185
M22LA3CX | M22LEODURX| M22LMSX | 22 | M30x2 | 36 | 205
M28LA3CX | M28LEODURX | M2sLMSX | 28 | m36x2 | 41 | 21.0
M35LA3CX | M35LEODURX| M3asLmsx | 35 | M45x2 | 50 | 24.0
M42LA3CX | M42LEODURX | M4z2LMSX | 42 | m52x2 | 60 | 24.0
MO6SA3CX | MOGSEODURX| mossmsx | 6 [Mi14x1.5] 17 | 17.0
M08SA3CX | MOSSEODURX| MossMsX | 8 |Mi6x1.5| 19 | 17.0
M10SA3CX | M10SEODURX| M1osmMsX | 10 |[Mi18x 1.5 22 | 18.0
M12SA3CX | M12SEODURX | Mi12sMsSX | 12 |M20x 15| 24 | 18.0
M14SA3CX | M14SEODURX | mi4asmsx | 14 |[M22x1.5| 27 | 21.0
M16SA3CX | M16SEODURX| Mi6SMSX | 16 |M24x 15| 30 | 21.0
M20SA3CX | M20SEODURX| M20SMSX | 20 | M30x2 | 36 | 245
M25SA3CX | M25SEODURX | M25SMSX | 25 | M36x2 | 46 | 27.0
M30SA3CX | M30SEODURX | M3osmMsx | 30 | m42x2 | 50 | 29.0
M38SA3CX | M38SEODURX | M38sSMSX | 38 | ms2x2 | 60 | 325




